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On this day:

a) Write the year he was born in Roman Numerals. MDCCCXLVII
b) How long ago was this?  74 years
c) What is he famous for? He invented the telephone















Maths
	Date: 3.03.2021                             Title: Number - Decimals
              
	
LO: To explore the relationship between decimals and fractions
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	[image: ]Challenge : 
Sam – ¼
Mark – 3/10
Jill – 35/100 which is 7/20

As equivalent fractions: Sam 5/20, Mark 6/20, Jill 7/20 so  18/20 were eaten and 2/20 were left.  Best answer is 1/10
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) Use the bar models to fill in the missing numbers.
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Possible response:

Dis the odd one
out because it
shows 0.3

Explore how the
rest represent 0.6
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Possible response:

Alex is wrong
because 0.84is 8
tenths and 4

hundredths and %
is 84 tenths.
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M21.Numbers in order, as shown:

3 2

05 5 o065 3
Accept equivalent decimals, percentages or fractions.
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a) Shade 0.17 of the hundred square.

Complete the sentence.
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Write 0.17 as a fraction.
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b) Shade 0.2 of the hundred square.

i

Complete the sentence.

20 |partsoutof| |00 |are shaded.

Write 0.2 as a fraction in its simplest form.
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Use the bar models to fill in the missing numbers.
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Charlie's Money

Age 11 to 14 Short
Challenge Level X%

Answer: £36

Splitting the money into parts
Charlie spent  of his money on a book:

book

He then gave 2 of his remaining money to his brother:

book | brother | brother

Then he had £9 left. So each of the equal parts is worth £9.

So he must have started off with 4x£9 = £36
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20 Endings: -ance and -ence

1. arrogance, assistance, fragrance, importance

2. adolescence, competence, confidence, dependence
3. a) silence b) appearance c) circumference

4. Example: The remembrance service was held in honour
of all those that had fought in the First World War

5. a) clearance b) absence c) acceptance d) consequence
e) guidance
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1) Draw hands on the clock to
show 7:50 pm

2) 0.00032x100=0.032

3)10%0f423=42.3

4) How many daysare there in the
last four months? 122 days

5) Write 6,635,264 in words
Six million, six hundred and thirty-five
thousand, two hundred and sixty-four

6)929x35 =32,515

7)93.5x4.6=430.1

8) Find 1/8 o 7,616 =952

9)63

10)4/5+





image2.png
1) If2/7is 56, whatis the whole? 196
2) 0.00032x100=0.032

3) 15% of 423= 63.45

4) How many days are there in the last
four months? 122 days

5) Write 6,635,264in words Six million,
sixhundred and thirty-five thousand,
two hundred and sixty-four
6)929x35 = 32,515
7)93.5x4.6=430.1

8) Give 34 as a product ofits prime
factors. 2x17

9=33.420r338/19
=35/4=83/4
11)4/5+7=4/35

12)Find 2/8 0f 7,616. 1904





